_+9 =10 9+ =10 4+ 6 =
_+3=10 4+ =10 545 =
_+1=10 14+ =10 3+ 7-
_+ 7 =10 s+ =10 2+8 -
_+6 =10 6+ =10 8+ 2=
_+5=10 s+ =10 64 4 =
_+3 =38 S+ =10 1+9=
Kreise die verlicbten Zahlen ein.
Rechne erst die verlichten Zahlen! Qi)

5+ 3 +5 = 2+ 148=

4 + 2 + 8 = b+ 5+ 5 =

7+ 3 + 4 = b+ 6+ 8 =

1+ 3 +9 =__ 9+ 0+ 1=

10 + 7 + 0 = b+ 3+ 7=
6+ 8+ 4= 0+ 9 +10 =



lco
+

|-~
+

o oo
+ +
w U (@) ~J LN w &e]

|U
+

10
10
10
10
10
10

ST < A A S <A T S

Kreise die verlicbten Zahlen ein.

Rechne erst die verliebten Zahlenl
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10
10
10
10
10
10
10

4+ 6 = _10
5+5=_10
3+ 4= _10
2 +8 = _10
8 + 2 = _10
6+ 4 = _10
1+ 9= _10
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